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For concerning the 2K it is X»u» a person and utensils

OVERVIEW

The & n3 distinguishes between the X7 MaX and their M7210; the MK are XHLA
0°%01 07X, while the m771n do not. Moo will be dealing with the &0, and also
some clarification as to the status of the 772.
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This is the proper reading of the text (as it appears in the heading of m»oin), and
we do not read in the text that an 2X is ¥»v7 a person and (his) garments, for this
expression indicates that an 7”07 2X can be 27X X»aw» to the extent that it will be
Nnun the 2732 that he is wearing;' which is incorrect.”

Mmoo asks:
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And if you will say; but a n» X»v makes a metal utensil X»v (by touching it)
with the same level of nXmv as he is Xav; the nonn 22 is an IXMLA AR, just as the

nn X1 is, for the rule is that ‘the sword is equivalent to the corpse’ -
- 173 N8 171 VI NHN

It is therefore evident that some of the M7710 of the XMWY NaX are similar to the
max. Why does the X723 state that the M7210 of AXMIV are 1772 XX XY of the ARV MaR?!

Mo0IN answers:
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And one can say; that nevertheless, the 2% cannot create a similar 7770, for

" The term 093 is more general than the term 0°733, for 2°%5 include a°733, as well as other o°7. If the X077 would
be 07321 07X, the inference would be that we are discussing 2722 exclusively. We may (incorrectly) interpret this to
mean that the IX™W7 2R is Xnvn the a7X who touched it; including the 0°731 that he is wearing as well (even though
the 2>732 did not touch the 80 [this is known as 2>112°12 8™ W]). The term 292, however, will not lend itself as
suitable for the laws of 2°112°12 xmw (for [only] 2>732 are worn, as opposed to 0°73 - as in utensils).

2 An 7RMVT 2R can be Xnun an DR (and 0°73) to become a IRMILYY WK, however this XMV AR cannot be Xnvn the
07X to the extent that (even) the 0>732 which he is wearing also become &nv. The laws of o°M12°12 ARMW are limited to
the 7%y Nn NRMW and to the NIXMIY that are 19137 XX, such as a 21. See 1072 N7MPN PTHIVPYIN.

3 The 70 writes (tv ,> [NPn] 12713) concerning the laws of XMWY, that ™A 277 97m2 a1 ¥3° WK 931'; the oo (see
2,8p Naw) interpret the words 271 97n2 to mean that the sword which killed the person has the same severity of m¥n
as the corpse itself; giving the sword the status of XMW Max "aR. This 7w17 is expanded to all metal utensils that
come in contact with 7XmW, that they retain the same level of ax™ W as the source which was &nun them. A nonn ¥
which touches a n» &1t becomes an XML 2R (like a N1 RAY).
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that non» %> cannot make another nan» “9> similar to itself. This non» *2 which
touched a N X and became an IR 2R, if, in turn, it touches another nann *93, this second Y93
nonn will be a aRMIVY NWRY, and not an aRMIVA 2R as the first nonn “95 was. Therefore the 7790
(the first nonn *2) is not similar to the aX (the original N1 RnY). For the original n» XY can make
a nonn °23 into an XML 2R, while the (first) nonn *22 (which is an 78?7 AR) cannot make the
nonn °72 that it touches into an IRV AR (rather it is a ARAIW? PWRI).
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As the n'"1 inferred in the beginning of n¥»rx nyawn.*

SUMMARY

An 7RMIVT 2R 1S QTR XA but not the 03732 which he is wearing (if he did not touch
them). A nonn °7> which touches an XMV 28 can be 2°921 07X Xnvn (like an 2R
RMI07); however, the nann °23 that it touches cannot be 2°731 QX XAVA.

THINKING IT OVER
What is the connection between the initial statement of mdoIN regarding the X073,
and the subsequent question of nvoIN?’

* See mwn "o (2w Po) N W 90,
3 See TMYNI WO WX,
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